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Q1) a) Read the following passage and answer the questions that follow.

Soapy was unsuccessful at getting himself arrested. As a homeless, jobless drifter,
he wondered how he would survive the harsh winter. He knew he would get food
and shelter in jail, if only he could manage to get caught while committing a petty

crime.

Suddenly he noticed a well-dressed man lighting a cigar at a cigar store. His silk
umbrella had been set by the door on entering. Soapy stepped inside the store,
took the umbrella and sauntered off with it slowly. The man asked for his

umbrella but Soapy asked him to call a cop-who was standing at the corner.

1)  What had Soapy been unsuccessful at?

i)  Why did Soapy want to get arrested?

iiil) What was the well-dressed man doing?

iv)  Where did the man put the umbrella?

v)  Soapy drew the attention of the umbrella owner to a police man because
1)  he wanted to run away.
2)  he wanted to keep the umbrella.

3) he wanted to get arrested.

02) Answer the following in not more than 100 words each.
a)  Why did Gandhi feel that he had to simplify his life?

b) How does ‘Man’s Peril” bring out Russell’s thinking about nuclear weapons?

03) Answer the following in about 200 words.
a) How according to Kalam can a knowledge society be built?

04) a) Answer in not more than 100 words.



i)  Bring out the theme of love in ‘The Last Ride Together’.
ii)  Discuss Shelley’s ideas as expressed in ‘Ode to the West Wind’.
b)  Explain of the following:
He is all pine and I am apple orchard.
05) Answer the following in about 200 words.

Discuss the theme of relationship in ‘Mending Wall’.

06) Answer the following in about 200 words.
a)  Discuss ‘The Lottery Ticket’ as a study of human psychology?

b) Consider ‘Subha’ as a dramatization of the basic need for love and friendship.
07) Read the following passage and summarize it.

Freedom has given us a new status and new opportunities. But it also implies that we
should discard selfishness, laziness and narrowness of outlook. Our freedom suggests
toil and creation of new values. We should so discipline ourselves as to be able to
discharge our new responsibilities. We should put into action our full capacity. Work
unceasing work should be our watch-word. Work is wealth and service is happiness.
The greatest crime in India today is idleness. Each one should work honestly, this is the
fundamental law of progress. Next to honest work is the habit of respecting other

people’s feelings. The law of love is a practical code of life.

08) Answer the following:
Write a report on ‘The Republic Day’ programme in your college.

09) Use these idioms and phrases in sentences of your own.

a) lookup to

b) bed of roses

c) crocodile tears

d) hand in glove
010) Answer f the following:

a)  Write a dialogue between two friends on the problem of unemployment.
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Read the passage and answer the questions.

Knowledge has always been the prime mover of prosperity and power. The
acquisition of knowledge has therefore been the thrust area throughout the world.
Additionally in India, there has been a culture of sharing it, not only through the tradition of guru-
competencies but these are scattered in isolated pockets and the awareness of

these is inadequate.

i)  From which lesson is this passage taken?
ii)  Who is the author of this?

iii)  What is the main mover of prosperity?
iv) How is knowledge shared in India?

v)  What is the problem with India’s advantages and competencies?

Answer the following in not more than 100 words each.
a) What are the good qualities of writing according to L.A. Hill?
b)  Bring out the central theme of ‘The Drunkard’.

Answer the following in about 200 words.
a) Comment on Orwel’s ‘Shooting an elephant’.

b)  What are the main ideas expressed in ‘Pecuniary Independence’.

a)  Answer in not more than 100 words.
Justity the title ‘Mending Wall’.
b)  Explain f the following:

He is all pine and I am apple orchard.

Answer the following in about 200 words.

a)  Discuss the theme of relationship in ‘Mending Wall’.



b)  Bring out Keats’ love for nature.

06) Answer the following in about 200 words.
Discuss ‘The Lottery Ticket’ as a study of human psychology?

Q7) Write an essay on the following:
a) My ambition.
b) Women empowerment.

c¢) Education.

08) Answer of the following:

Write a report on a musical concert held in your city.

09) Use these idioms and phrases in sentences of your own.

a)  hand to mouth
b) atarm’s length
c) close-fisted

d) in anutshell
010) Answer the following:

a)  Write a letter to your friend congratulating him for topping his college.

b)  Write a letter to the commissioner about the problem of bad roads.

F
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Q1) 8o® D08 HS DY BoGo23e0 FOHOS.
DY BB HOE DY DEES 5708 S¥He0

DY DO B 35085 $0BgI0e0e0S PRB HS

—om

OYE DEENPBR D5 EBEDOH 00T RSO
E0QE0(EG T BBOHBIOEID 5300 &)ra?xﬁoageg ?

02) 8o& 3008 DHOLBY DS A TPADOG.

a) WSS HEBoY BODS Sob.

b) Besos $¢57 Bosesd $5.08.

C) 8R5S Hodrs ey TREIDS.

d) ©@ed555:55500( 5320,05080¢50( e8A3H 8!

03) 8o& 3008 D550 530H0b.

a) DTS BOG DL OB DBBODS DEHN HBOOTOSE.
b) 8% ¢§)sE0S DR HBD HSOOWOR.

04) 8o& 3008 H&TPS0 530H0k.

a)  &008)RRRPHBISO0 DBEW@RS B0 T WS BITWBD HBOOSOE.
b)  orobe S0 T3 tg)sT, WS, OFDS, PO KOO FOHOG.

03) 8o& 308 H&TeEemeen TPaHO0k.

a) Bso.
b) DOIFBI0CD.
06) 8o& DR 5708 ;00 TOHO.

a) 3B DS FBSIS® gRHe Do
b) o0& Bs.



Q7) 1) 808 H5,08° @000 BY ©FE0 BE) DEDT;0V0TTOG.

OS5 DO 3360 $t§ ADOBTROESATV0DS

1) 808 ®00sCeeS? 28 S DEEETEEIOT? OEEP0 B0k

1) ooesso.
2) D8,
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Q1) 8o& o208 H& DY BoGooge FODOG.
&L SIFEBD PRSI DO (T2 °E IR O
T;BIED DYBO 525D §03085¢5 000QS DR(RS =0
BB POH020 SERBE B DRS( F(7e8, oXre
SOBEO B0 BHY E00,( BOOD(HT B OHTIS ?
02) 8o& 3008 HOLBY DS A TPADOG.

a)  @BBoTe BHORIAD!

b) T CHES BRES SOS.

C) DSBOERG DR aazs%éﬁaamg.
d) BsB0E3O OD o8 3D.

03) 8o& 3008 H&TEPS0 530H0k.

a) BN PAS WOBL,ETIR) HSO0TTO.
b) &8 5= PR dSDOTOB.

04) 8o& 38 H&TEP0 530Hob.

a) VSR STEFOSID Goesnen KsaRs0 DEEO0OH.
b) &80 OSSO B50 57 TODHOG.

03) 8o& 3008 H&Teeemeen TPaHO0k.

a) dossoees.
b) Hogs.
06) 208 o0& 252D 5708 2,00 TG,

DB DEROIS® DD Moss.

Q7) ) 808 HS; DB 565 HERS TR, WO (HYOD OHAD HEB0E.



0235 G056 FFNE BT HRODHOBO HOYB,E0

1) 808 TP 2508 JFEBEIOT? O BYOE.

1) sosso.
2) Be8a.
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Answer questions:
ST forEa |

a) Write the brief story of Nagananda.
AT, JeHTHAT forEd |

b) Explain the dramatic skill of Bhasa with illustrations
TS EYeBAIed Ty HERT |

a) How did viswamitra become Brahmarshi?

et w9 s SyE e

Explain the following with refer to context.
T M |

a) g gui f& et waf=r |

b) HERTETTE! TE: |

¢) & CEHYTId TEIY |

d) ¥ 93 % = Ga: |

Write short notes on the following /
YRl forad |

a) arfa: |

b) TsEdY

Define and illustrate alankaras
A T AEvIETE! fored |
a) &I

b) 3@'@:

Write the forms of the following sabdas.

fifésefirafry wmfir foraa |
a) A&d (TS3M)



b) faga (feeftam)
¢) g - Bl (g
d) M - (FeH)

07) Write the forms of the following adding the given termination’s
T AT At fored |
a) H (Fd9d)
b) T ()
¢) t (F=q)
d) 31 (3)

08) Translate in to Telugu or English.
ST forad |

a) GLd: FdT: T |
b) JAT TS qAT TS |
¢) ST ST,
d) g S |

SISIS)
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Answer questions:
I foEa |

a) Sketch the character of Baladeva.
A AT HEd |
b) Write the story of “Sri Krishnasya Mytri

Write an essay introducing “Acharya Sri Ramachandradi”
TR ot TGy ahEETee e forad |
Explain the following with refer to context.
e T |
a) T YT ARG |
b) ferTises T & forrha=nad |
¢) ¥ B ufesem |

d) T shdeaamer: o Tom: |

Write short notes on the following
g |

a) YT

b) SECH:

Define and illustrate any two alankaras
AT ARG fofEd |
a) Gy

b) AT

Write the forms of the following sabdas.

Ffesefavfey & foraa |
a) TS - (Ts=Hl)
b) 3G - (T¥HT)



Q7)

08)

¢) arh ~ (feefram)

d) e - (9T

Write the forms of the following adding the given termination’s
TACHEIT A forad |

a) o (M)

b) 93 (T)
o) & (=)

d) ™ (T30

Translate in to Telugu or English.
ST forEa |

a) W5 g T Efd |
b) IfieH v forem |
c) et Terfa T |

d) eaAlha AL e |

SISIS)
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01) fTmafafEa s =t T smen fifs |
a) i) Teh YT Teh §cd, T 3T foeam |
@i afctdd TATY 4, FTaeh darsie ||

i) «Tfgm gRag &1 1, @Y A G B
STl M A g, hal L aE@T |17

b) ST g, T ST forea dres 6 Sher TR sTTeien|
-0 -5 g3 a9 T2, e TGl 81 31 31 |

02) Tt wfaan =1 amw faRew |
ez |
03) Tt =fa =1 ufe G |
a) JoTHICH |
b) T g feremt |
04) Tt fowg w fey forfaw |
a) J&dshiel |
b) <A |
¢) TATEIT-Hgyu |
05) Tt afeey fowr w fey forfaw |
a) 3Tcehtar aRfefoa w gt 1fere |
b) F01 9tk 3R FLE™ St 1 qi=’ ST |
06) Tr=fafaa w1 &= & 3rgane i |
On the bank of river Penna, there was a village called Perur. In Perur, there lived a
poor Brahmin. His wife was on Orthodox. They did not have any children. They lived

in a small hut. There was a lime tree behind the hut. It bore many fruits. The couple
sold and lived on the income. The tree was to them dear as a son.
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01) Tmafafga e =t gwe e Hif |
a) i) hepdl 319 oW ¥ waEdt ® foh 9w
THR TE AT 2 TR g Wl @
Bl Hehd 8, T HTAT SHHTAT &1 &l Tehell ||

i) 999 I T gL U T §,
AR T -3¢ I sl 3T el |
@ 9 @ e I« I,
SraT-ur faeman | 1 uTd |

b) -V, JT-TEATIH,
P -HETETh, & JER |
@T—ﬁnﬁ,@—qﬁ@cﬁ,
T Toh T HT TIEHN |

02) Tt wfaan = arw e |
a) WIS T I-I=AT T IUCT |
b) heRAl ST UTTATT |

03) Trdt wfa = ufem @i |
SR JETE |

04) TeEt fowa w fey fafew |
a) T@-JT |
b) TR |
05) fret  anfee fawa w fasy fafEe |
a) THYRE 910 3R eI w1 ai=d S |
b) eH H1 faehE TR TR TG 1 IR= T |



o1

02)

03)

04)

05)

006)

(DBMAT?21)
Assignment- 1

B.A. DEGREE EXAMINATION, MAY -2018
Second Year
MATHEMATICS - 11

Maximum marks-30
Answer ALL Questions

Find the equations of the planes bisecting the angle between the planes
x+2y+2z-3=0,3x+4y+12z+1=0 and specify the one which bisects the acute

angle.
X+2y+2z-3=0,3x+4y+12z+1=0 Bosve ¢ % DHOQ, POBD BOHVED

B0, @050 DO @089 HEOE) POTBD BOHD NI ?

~1_y-3 z-2

Find the distance of point (3, 8, 2) from the line al 2

measured parallel

to the plane 3x+2y—-2z+15=0.
x-1 y-3 z-2

2 4 3
3008 DBTP0BSOTP BI0EPEH0K0.

(3, 8, 2) ooy o0& BpH oo &Smean 3x+2y—2z+15=0

Show that the plane 2x-2y+z+12=0 touches the Sphere
x> +y° +2z°—2x—4y+2z-3=0 and find the point of contact.

X4y’ 428 -2x—4y+22-3=0 &%wg 2x-2y+z+12=0 Sosn QHB8oHBD
TETLYED.

Find the equation to the right circular cylinder whose guiding curve is
X' +y* +22=9, x—y+z=3.

OTBODE BB X +)’ +2°=9, x—y+2=3 00 Bo ©0e HBODH WRDBED DAOBSHHN
5506°5050%. '

Show that n\/; =1].

n\/;=1 O 53D,

Every bounded sequence has the greatest and the least limit points.

OB HODERTOZHROS (505) HOOOTN BT BB IOV QVOLIPAW.
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Q1) Show that f (x) z% has an ordinary discontinuity at x = 0.
l-e’

1
f(x) =— B3B8 X = ) 5 DS DYYBEDHOS wSPHOG.
1—-e’> '

02) Show that f(x)zxsin(%),x;t 0; f(x)=0,x=0 is continuous but not derivable at
x=0.

f(x)=xsin(%),x¢ 0; /(x)=0,x=0 Doz 5 x = 0 HILODHBD BHYFO BHB0
508 9DZDDODO SoE%0.

03) a) A variable plane makes intercepts on the axes, the sum of whose squares is &%,
show that the lows of the foot of the perpendicular from origin to the plane is

(x’2+y’2+z’2) (x2+y2+zz)2=k2.

28 WO BoHD SFHVOD WO GOBE POBHVO HOO BOBHD K ec0s
HaR0NVOEID) o0& B3 Bendd  BDS oodpSSn DO DHH

(x_2 +y7? +z‘2) (x2 +y° +Zz)2 =k*.
b)  Show that the shortest distance between any two opposite edges of a tetrahedran

2
formed by the planes y+z=0,z+x=0,x+y=0 and x+ y+z=a is Tz.

y+z=0,z4+x=0,x+y=0 oo x+y+z=a Bosved DGES SBHEBS

2a
DEDTEDED YOTHO 563656 é&)@ 53000 —— @ TiIea)A.

NG

04) a) 1)  Find the centre and radius of the intersecting circle of the Sphere
X' +y" +2°+2x-2y—4z-19=0 and the plane x+2y+2z+7=0.
X4y 27 +2x-2y—4z-19=0 &850 x+2y+2z+7=0 Sosn HOES
885500 BOGHW, GRG0 BHOGHIH00.

i1)  Find the limiting points of a Coaxial system of Spheres given by



b)

05) a)

b)

06) a)

b)

X'+’ +2°=20x+30y—40z+29+ 1 (2x—3y+4z)=0.

X2 +y° +2° —20x+30y—40z+29+ 1 (2x—3y+4z)=0

DEOBBE50 DIPDO0W HIFICEHR 95 VORI BBIGHOHD.

Find the equation to the right circular cone, whose vertex is origin, axis is
x=t,y=2t,z=3t and semivertical angle is 60°.

88,50 $0700 DO, WFH0 X =1 ,¥=2t,z=3t Sooaro 8025 85550 60° 3
50 0B FOBIE) DOBGEHNH BHOG2H0HD.

Find the equation of the cylinder whose generators are parallel to the line
%:%:g and whose guiding curve is the ellipse x> +2y°=1,z=3.

3%:% B BHRoSSEVT Hod X +2)°=1,z=3
500 HTBOHE HEBDT (50 DRDH0 DEBGEB0BI BBIGEOHD.

x
258 Sen T:

State and prove Sandwich theorem or squeeze theorem.
FOBDS B &, 58 10T HHDOD DEPHOWOR.

1

1
Prove that the sequence {s,} where s, =——+

- + is
n+l n+2 n+n
convergent.
1 1
s, =—+ - + (oL NN 915} {Sn} BOHOED0  DDOOLD
n+l n+2 n+n
<53eD0%.

State and prove Absolute Maximum — Minimum theorem.

508 - BOY E’ocgom@ DIDVOD BFoS0bk.

Show that the function f defined by f(x)=x", is uniformly continuous in
[-2.2].

f()=x" &% 2500085 Hiboban [-2,2] & Dscrd ©dYFore
000G TSTPHO.

State and prove Lagrange’s mean-value theorem.
BJe0ed S0EI;E0 0T E’ocgom@ DI DO DEFPDOTTOL.

7,
Evaluate J. (sec4 x—tan* x)dx.
0
%
(sec4 x—tan’ x)dx 0 OO0,
0

If f:[a,b]—>R is Monotonic on [a, b] then f'is integrable on [a, b].



S &Boamo [a, b] &% HBDHo ©wowd [a, b] §ois HHREedADHO

1 1sin 2
Prove that —SJ. 7zzx dx<—.
7T 0 1+x T

—<
T

1 1sin 7rx
I —dx<— o wSRDHo.
01+x T
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What are the obstacles to the economic development of developing economics?

9B DOLBIEIY BT BOSVHDS B0V BYOG ?

Explain the Balanced growth strategy.

DOBDS 5O ?’ocgomg DH5O0508.

What are the causes for unemployment in India? Suggest remedies.

35S R S0S8 DEE3 BB 508630 DD ? ROD DITPOOT) &5IPTIORD DIPDOZDED.
Critically examine the Public Distribution System.
BHewe HOBEB &5,B5YSD DSE,DE,B00° DSOS

Explain the role of Small Scale Industries in the economic development of India.
REBEE BQSNHDST DY BEE HOFEO FBD (HOOD NSOV

Critically examine the New Industrial Policy 1991.

1991 B8JSBS 338)@?&35 AL L) QB0Y,70088,50070 HHDONED.

Explain the importance of land reforms. How far are they successful in India?

FIRHOD,BE A30E, DeLBVYPBX DBOOD, FREBHBI0F OO ©F JDESS® DOBBEE
20DHBS0BRTCIT HSD0DHD.

Explain the role of IDBI in providing finance to Industries in India.

37SBRS0SS DOTZOE 89T DBBAHO 0O TS 5.5.89.5. FPB HSO0YED.
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Q1) Explain the present trade policies of the Govt. of India.
BPBBEE HEHB0 GINE, DB ST DGO (SR HBOOTSO.
02) What are the causes and consequences of inequalities in the income distribution?

300D HOBBSS DSTPIBOE) SBEFRD SO0 T3 DESPTIOI HSO0DSD?

03) Globalisation.

Qa’aoif)éciea.

04) International Monetary fund.

©0STE0D B5,08.
23 —

05) Human Development Index.
353265530858 DIPDE.

06) Green Revolution.
5008 HPHIBD.

07) Sources of Industrial finance.

338)@3&35 OB 357°09e0.

08) Achievements of the five year plans.

5’301:555% éeaa‘z%ée) azaeen.
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Fit a curve of the form y = ae™ to the following data:
88 808 S5wOTDE Y = ae™ e BEB0 HOGeDOSOH!

x: 2 3 4 5 6

y: 85 153 33 65 125

Explain fitting a quadratic curve by least squares method.

208 DOPSOOTTIY DOHOTHEID B S0 6’363@ DIDBEOOTIISD.

Show that correlation coefficient is independent of change of origin and scale.
0T00D0E DB 327320 080 VOO %&e‘f mc%é) éaséog Q) TIIP)0.

Obtain the angle between the two regression lines and comment.
B0t HBHEOS TP 80658580 Teard BIDAT &7, OTIOHD.

Explain maximum likelihood method of estimation.
508) DogRSDADT VO HLIB DIOEOOTIHSD.

Explain coriterice of good estimater.
BB YOS 851008 DIHTEFD DSOOTIO.

Define y* distribution state its properties.
A _BeresH0s DLy DORE0. O SR, HETESM.

Establish relation between t and F distribution.
t sooao F ograsmee 8365, 0000655500880 0eesin.

State and prove Neyman-Pearson Lemma for randomised tests.

dﬁade)xggée)é B’Jé‘)ée)aﬁo 555335—330d)§5 ?’ocgomg DI D0 DTBIHOTIHSD.
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Explain a large sample test for testing the significance of the difference between
two sample standard deviations.

B0t HABID EHIOTOTR &5 DSE oo HDOGOTHEED TG &S HBETD

DHOZDB DSOSk

Explain paired t-test.
BBDG50ES t—a’aéiéaﬁo &500T506.

Explain 7’ -test for independence of attributes.

O T DBBEOSS PO DBOBD ) -HOZD DBOOTOB.

a)

b)

a)

b)

Give advantages and disadvantages of non-parametric tests.
OD0RE0D HOZ DOFET SOOI OBOZETD BLOG.

Explain median test.
6536.56(?6 éééé) DSO0DB.

What are the use of regression analysis?
DOBEDSSD BSOS SHAZTP0 DP?

Define multiple correlation coefficient.

20850E DDD0D0E (DESE000 DB WOoTS0.

Scattered diagram.

agsa’aé HEIS0.

Sampling distribution.
DBTBID DI BA.

Explain consistency of a data.

58308 JPO DB DSOOTIOEND.

Define sufficient estimator.

a’aogsag @oémmmg DB D00,



g)

h)

3

k)

Concept of degrees of freedom.

B0 OF IPBBDD.

Define F-distribution.

F-8emes0550 DE,005»80.

Internal estimation.
0B ®OTIT0.
Level of significance.

DG JpOX BXDERDS.

Power of test.

DHOZR IO DB DOEDSD.



